TEXAS A&M UNIVERSITY

RF*! Math Learning Center

Math 308 - Spring 2025
WEEK-IN-REVIEW

MAtH 308: WEEK-IN-REVIEW 1 (1.1, 1.2, 1.3 & 2.1)

1. Verify that each of the given functions is a solution of the corresponding differential equation.
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(c) y" —2y" =0, y(r) = A+ Bx + Ce®® (where A, B and C are constants).
|
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2. (a) Find values of A and B so that the function y(z) = Ae** + Be_?’x) is a solution of the initial
value problem y” — ¢/ — 12y = 0, y(0) =1, ¥/(0) = —1. G chedt L) that ’S(?") % a soln

,\3(0)~Ae, +@>e = AvD=|
a2 305 0= pA-20 =~

%(w)_- pA 20 «&Cc’) + ¢

SO\W%MB—\ *

yp-39=-1 ¥ x%

¥ h=\-b

¥ ¥ 4(1-6)-36‘——\ A =1-%5= Yy
b — w 38 = —| %
L-F8 = -1 > 5=7B% B=%

(b) Find the values of A, B and C so that y(z)

= A + Bz + Ce*® is a solution of the initial value
problem y"" —

2y" =0, y(O)—O y'(0) =1, y"(0) = 3. *
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3. Use direct integration to find the general solution of each of the differential equations
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4. For each of the following, determine whether it is an ODE or PDE. Additionally, state (a) the order
of the differential equation and (b) whether it is linear or nonlinear.

Py dy . 5 apE. M™omder lnear
(a) @‘f‘%—?y—x )

v — sin(z) ODE, order , non\inear
|

non \{nedr

d
Lo% 9% 0% DE. 2 order) \ineny
(C) 0*2@ = @ —+ 87y2, c 1s constant P ) )

(d) + y=0 ODE’) A-S"-Orie,r N nonlinear

non\inear

ad .
(e) u +@: Olgg, o isaconstant PDE) L order , nonlhinear
V\Ul\\».'hea(

nd .
(f) r2R"(r) + rR(r) + (" —a®)R(r) =0  «is a constant ODT ) 2 order ) \\near

S .
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5. Consider the following list of differential equations, some of which produced the direction fields

shown in the figures. Identify the differential equation that corresponds to the given direction field.

(a) ¥ =y(y — 2)?

)y =-2-y

(d)y' =-y(2—y)

(c) ¥

d) vy =y2-y)
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Figure 1: Direction fields.
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6. Use the direction fields below to determine the behavior of y as t — oco. If this behavior depends

on the initial value of y at ¢ = 0, describe this dependency.
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Figure 2: Direction fields
b
L
L
3

f o« '8(_03 £ 0
M) = 2

g '1&(.037—0
%cb)=0

1§ yhi<o
«éce) = -®

tlenv
>

Jirey
g0

@ T
1%
ts>
T
\'

- -

§ CIORSS
f\a(,t)

I

\n
50

Math 308 WIR 1: Page 6 of 9



TEXAS A&M UNIVERSITY
1'.:.|.-1.VI Math Learning Center Math 308 - Spring 2025
WEEK-IN-REVIEW

7. Solve each of the following differential equations.
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(e) Find the solution of the initial value problem and describe its behavior for large t.

v+ ly =3+ 2cos(2t), y(0)=0 ¥ Sowmdard form %
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